MOJOTONE NC3015 WIRING DIAGRAM

INDICATOR ON/OFF STANDBY O O O

9 6 J
n ] N 500K Log

INSULATE
(240V ONLY)

7000018
POWER TRANSFORMER

#6 GROUND TAB
R —

(V)

#6 GROUND TAB
R —

#6 GROUND TAB
R —

FUSE AC INLET OUTPUT SELECTOR SPEAKER OUTPUTS

ECC83
HARDWARE:

16 QTY 4-40 X 1/4" SCREWS FOR NOVAL TUBE SOCKETS, TURRET BOARD, AND POWER JACK GROUND

GROUND TAB

8 QTY 4-40 X 3/8" SCREWS FOR OCTAL TUBE SOCKETS AND POWER JACK

4 QTY 4-40 X 1/2" STANDOFFS FOR TURRET BOARD

16 QTY 4-40 KEPS NUTS
2 QTY 6-32 X 1/2" SCREWS FOR CAPACITOR CLAMPS

2 QTY 6-32 KEPS NUTS
2 QTY 8-32 X 1/4" SCREWS FOR TRANSFORMERS

6 QTY 8-32 KEPS NUTS
4 QTY M6 X 1 1/4" SCREWS FOR CHASSIS

MBS0 o
REVISION 6
B =] 1/19/2023




